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3. (20 #) Ken and Barbie must prepare a presentation for their Economics class. As part of their
presentation, they must do a series of calculations and prepare 30 PowerPoint slides. It would take Ken 5
hours to do the required calculation and 5 hours to prepare the slides. It would take Barbie 6 hours to do
the calculations and 10 hours to prepare the slides.

(1). How much time would it take the two to complete the project if they use comparative advantage and

specialize in calculating or preparing slides?

(2). If Barbie and Ken have the same opportunity cost of $5 per hour, is there a better solution than for each

to specialize in calculating or preparing slides?

4 Q0 A) Hr1e F EHRR L AT A FA) KR T A Lo
1. 3£ z% ( Fisher effect )

(2). 24 & & s (Phillips Curve )

(3). & + 4 (Pigouvian tax )

(4). #43r i (increasing return to scale )

(5). # A7 i & 3 (production-possibilities frontier )




LE AT 13T & RMLIITE 4 T334

527 0 £2F
: ke by % % s N
AN AN S bk ¢ 77 %, 4 - 77 » =3 >
w |FREFETIFMRITAn(RRY S S Em) | L | 100 A&
%LL 43 S » %i A
0 ERE W 100 4
5. (20 #) Two home-improvement stores (SCU and IBSU) in a growing urban area are interested in

expanding their market share. Both are interested in expanding the size of their store and parking lot to

accommodate potential growth in their customer base. The following game depicts the strategic

outcomes that result from the game. Increases in annual profits (in millions of dollars) of the two

home-improvement stores are shown in the following figure.

IBSU

Increase the size of store

and parking lot

Do not increase the size

of store and parking lot

Increase the size of

store and parking lot

SCU
Do not Increase the size of

store and parking lot

SCU=1.0

IBSU=1.5

SCU=0.4

IBSU=3.5

SCU=3.2

IBSU=0.6

SCU=2.0

IBSU=2.5

(1). Does SCU have a dominant strategy? If so, describe it.
(2). Does IBSU have a dominant strategy? If so, describe it.
(3). Is there a Nash equilibrium? If so, describe it.

(4). Suppose the owners of SCU and IBSU meet for a friendly game of golf one afternoon and happen to

discuss a strategy to optimize growth-related profit. If they agree to cooperate on a strategy that

maximizes their joint profits, how they would do?




